H & 0l & AHS B Ml A

LHPIE

mal: 2 )|

CEX K

ol 2EJIE" - AIZIHE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JIEA 10,035,112 7,512,452 2,522,660
= 17,036
= 10,018,076
=d J1g - xF - X 179,076 160,906 18,170
THIIE - AIEDRY 179,076 160,906 18,170
o3 XA 54,000 54,000 0
WM HsFEE=S 54,000 54,000 0
03 &R = 54,000 54,000 0
oAd=Ea= 1,500,000& x1H 24 36,000
o= a= 1,500,000 x1&* 122 18,000
THIIE - AR F& 108,076 89,906 18,170
201 fer23| 69,536 48,906 20,630
01 AtR2t2|HI 40,536 48,906 A8,370
o= d PPT M 3,500,000 <22 7,000
oZdENN & 7! 10,0002 %1,000% 10,000
ozZda e I 1,000,000 #2042 2,000
oFQLUPAIBARA FO
35,0003 x40 +33] 4,200
cURENAN Rel(Z,23)
35,0003 x40 +33] 4,200
CHMN2SARNS 4T
70,0003 x25 & *22] 3,500
cHHALSHANYRARAZ =&
70,0002 102 +43] 2,800
ozd gitelds =&
70,0002 x6H +33] 1,260
oHMLE =& 100,000& * 102 1,000
ocZIAMYR = SEH|
8,000 x4 » 143 4,576
02 S3=gl 29,000 0 29,000
ocAHtsgd NYEFEq fF€=
3,000,000 3,000
ocHMARAA AHIFAZ FH2
20,000,000 20,000
o3 AAE FX2e 500,000& * 12 6,000
202 04l 5,040 6,000 A960
01 =LHAHI 5,040 6,000 960
oZIAHMYR =M
20,0002 x4 =40 3,200
oxdIIEYR X
20,0003 x4 23 1,840
203 HR=H] 8,500 10,000 21,500
03 A=A R =AH] 8,500 10,000 1,500
oRFFQAM L IIENXHEE FE S
2,125,000 42| 8,500




SA: A
M. 28 0|8 X - XY
ol 2EJIE" - AIZIHE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
303 Za= 25,000 25,000
01 Za= 25,000 25,000
CEQUS T} 240N Ty
25,000,000& 25,000
HIgHHIE =¢ 17,000 17,000 0
301 EtE NS 3,000 3,000
14 0Bt 2a3 3,000 3,000
SERIPIEES NP
1,500,000 22 3,000
303 T&Z 14,000 14,000
01 Z&3 14,000 14,000
CTRAKY 4T Ala
7,000,000 22 14,000
JURSFeages 628,508 636,630 N8, 122
80 HEg 628,508 636,630 A8 12
tlatzd 2kl 218,948 170,190 48,758
201 223 48,218 67,516 A19,208
01 At22t2ltl 41,432 49,720 N\8,288
SZ0AA S Ofak2ted I}
30,0003 x65*13052 23,400
oHMHR T AIRSS 78
30,0002 x65+62 1,080
oMEAHE, SEMHE}IISE2E 42
23| A& 70,0002 %12 *13] 840
SXNUMHE MBS BALNLEERZ S)
Fgo=g 70,0002 *12E*62] 5,040
SFBIF 00 AAIOI| BBl B AT
70,0003 »21 & #22 2,940
LN R P
70,0002 x5 +33] 1,050
oEXNEAI 2N HA+G
70,0003 *7 E*12] 490
cZ0at & FH0A By =A S|
8,000& x4& 103 3,2%
ol&HR & SEHI
8,0003 x4 »103! 3,2%6
2 S5=24g4l 6,786 17,79% 211,010
old 2E4E SHOIX SHAIAE S
2 138,000& ~ 12 1,656
oSEY MHAEEXZAAY SXE2
5,130,000& 5,130
202 04| 960 1,920 A960
01 =LHOLI 960 1,920 A960
om S AFE X ESURA AF2e]
20,0002 *x28 *123] 480
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FA =Y
HE: HRSY
ol 2EH a2 g (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SSMWES L SN YRFT
20,0003 »2H #1223 480
308 AHXIEMSOIE 98,892 50,597 48,295
183 S| 2SO U ZB&HAEAIE 98,892 50,597 48,295
oSS NLMHAAAH 2 X2l
98,892,000 98,892
403 AXIEHHSA=201H 70,878 50,157 20,721
02 S 2SS0t et = & 2 €A ] 70,878 50,157 20,721
oSEANLME MHSHAALE 2= 2E=
70,878,000 70,878
=0 2 S22 78,500 82,080 23,580
203 HE=H| 8,500 10,000 21,500
03 A= LR F&IH| 8,500 10,000 1,500
olatEE XHBiot =8 S
1,062,500 x4 71 4,250
o FREO FH(SS)
1,062,500& *4=2 7| 4,250
207 ARl 70,000 70,000
01 H1ESHI 70,000 70,000
o ZIFHAREAH|(SS)
70,000,000& 70,000
NEARA 29 41,260 51,560 10,300
201 fet=23y| 17,400 21,800 A4,400
01 AtR2te|HI 15,000 20,000 25,000
SHIBARE itz 300,000& * 128 3,600
o2 RA=sA U= 700,000 * 122 8,400
oEEES 7Y 20,0002 = 150K 3,000
2 s5=34l 2,400 1,800 600
o=AB3RSAEE 200,000 x 122 2,400
202 O4H| 9,360 11,760 A2,400
01 2L A 9,360 11,760 A2,400
o LHOHI 30,0002 %10+ 128 3,600
o 22| 01H] 60,000 8L * 122 5,760
203 gR=&| 8,500 10,000 21,500
03 A=A R =NH] 8,500 10,000 1,500
o NS At g =M S
2,125,000 42| 8,500
406 J|EHAH=01H 6,000 6,000
01 JIEFHE01H 6,000 6,000
o=A 53 6,000,000 6,000
AR HARP(SS) 234,800 271,200 A\36,400
201 223 23,000 24,000 21,000
01 At22t2lt] 23,000 24,000 A1,000
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SA =Y
mr: 2N 2
oSl 2AAES L)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S EYESTIE R
8,000 x4 »130! 4,160
202 04dl 4,000 4,800 2800
01 2L AL 4,000 4,800 A800
S AHHMZAL & A AL H 2
20,0003 x2& 50! 2,000
oSHUN Y BHLE
20,0003 28 50 2,000
203 gR=&| 2,550 3,000 A450
03 A=A FAIH| 2,550 3,000 A4S0
cHANES YR FAU S
637,500 x4= | 2,550
301 EetE NS 2,200 18,200 216,000
14 0Bt 2a3 2,200 18,200 A16,000
oZdll oE=s 2,000,000& 2,000
oZ2E S92 BEHIE(=8)
200,000 200
308 AHXIEMSOIH 1,719 9,242 2,417
18 SIS0t HAS A 11,719 9,242 2,417
oFtl-e AIAH S B4 & 2H 22/
11,719,000 1,719
AHE2ES 759,120 789,960 30,840
dHEE 5 235 759,120 789,960 230,840
zHEER 547,400 561,440 214,040
201 er23| 125,150 125,440 2290
01 At2teltl 48,590 50,200 1,610
oplE A= 20,0003 x 1302+ 123 31,200
oWk A= 15,0002 x105+32+ 122 5,400
oTHEEE WX
200,000& *3JH*4=2 7| 2,400
<JIEH AIRES 30,6002 x155+102] 4,590
oZIELYUR =M SEH
8,000& x5 » 125 5,000
02 S3=gHl 76,560 75,240 1,320
ollgwA Ms 08
3,800,000& ~12& 45,600
oA MHEAZ 1,700,000& «12& 20,400
oHEAIH MHIA AIER
810,000 * 12 9,720
oZ80AT 0I8Z(HE)
70,0003 * 122 840
202 04| 3,000 6,000 23,000
01 =LHO LI 3,000 6,000 23,000
o= .-Zd AHMELE
20,0003 x58 30 3,000

_149_




SA =Y
By sEsoEs
ol HYER 25 A EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
203 HR=H] 21,250 25,000 A3,750
03 A=A 2= 21,250 25,000 A3,750
oEQPAM BH S
5,312,500 42| 21,250
308 AtXIEMSOIE 398,000 398,000
18 SIS0t AS A 398,000 398,000
oXB(A2, B S) 2D
1,800,000& %1102 198,000
o QIHY i &1 1,600,000& 1253 200,000
AR S Salts 2l 211,720 228,520 16,800
201 Ler23| 3,720 5,520 21,800
01 At2teltl 2,720 3,520 A800
oJthlict AEA &
2,0003 %3071 x 122 720
ozd JIE &8 MH
300,000 427 1,200
SII=SH HEUM 7L
200,000 *4H 800
2 s5=34l 1,000 2,000 1,000
oJtiet #=clbl 1,000,000 1,000
308 AtAIEHMSOIE 208,000 208,000
18 SIS B HASAIE 208,000 208,000
CRPHEY YBTRIY M
40,000,000 35 120,000
ocTFEL 2(AH) MH X =
11,000,000 +8& 88,000
OICIoi Atz 2ke] 329,860 466,060 136,200
olitins 329,860 466,060 136,200
S0 AKX g2t 85,360 91,560 26,200
201 =3 85,360 91,560 26,200
01 At22t2l] 66,880 73,080 26,200
cE=0Ed A4 HH
15,000,000 *43] 60,000
oE=0EY A S Bz
50,0002 x102*43] 2,000
oRE=0HY 24X IMSENE S
1202146, 0002 +43] 2,880
OB AMK BTSN HALE
100,000 *5& *43] 2,000
2 BZ2H| 18,480 18,480 0
o2 AMN W& 2HR
7703 +6,0002*43] 18,480
NS 22 2435t 104,100 134,700 /30,600
201 fet=3| 49,200 71,200 /22,000
01 AtR2t2|HI 48,000 60,000 A12,000
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HPIE

S DIz 2el
el DICIEs (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=24 227 ¢ NS 2¢ 44,000
=271 28 & 2l 22,000,000 22,000
-NS 2E € 2l 22,000,000 22,000
oRFE 4 X S 2,000,000& *22] 4,000
03 #AL2 Y| 1,200 1,200 10,000
oNS MEEX =AW 253 S
600,000 23] 1,200
301 EtE N = 48,900 53,500 /4,600
11 #AIAMHIXIZ S 900 1,500 A600
ONS AEEZT &4 Ba|
30,0002 *30&H 900
14 JEt2a s 48,000 52,000 24,000
oINS MEHZE A= XS 40,000
-0z X2 100,000 *30E « 122 36,000
-HH 202 X2
100,000 x20H +23] 4,000
oS OIIE HO A+ 2at
800,000& *102] 8,000
308 XtXIEMSO0IE 6,000 10,000 24,000
13 SIS0t 4 A AS A 6,000 10,000 24,000
oEN & AL NS B2
1,000, 0003 *2I1 32 6,000
OICION = 2tel 140,400 239,800 299,400
201 fer23y| 28,400 95,800 A\67,400
01 AtR2t2lHI 18,400 84,800 66,400
oLEE BDYY HA
4,000,000& 42| 16,000
oJ&EH| HiEel + 250,000 x4 1,000
o000 X2 MEOHM 2
200,000 *2H 400
<00 XS 2e| T2 HAASES
1,000,000& 1,000
02 S3=2g4l 10,000 11,000 21,000
=0ICI0l SE22AAE 2R 21
8,000,000& 8,000
od A&l sl 1,000,000 1,000
oEZEE L& ANEE It
1,000,000& 1,000
308 AtXIEMSOIE 112,000 144,000 /32,000
183 SIS U B 4 HASAIE 112,000 144,000 A32,000
ol 21 &=
5,000,000 x2JH 2=+ 102 100,000
o000 &1 &5 6,000,000 2] 12,000
THOHSEE SR =& 106,780 125,836 19,056
s RN 29 9,980 5,460 4,520
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FA =Y
M AHNEES =X
&2 AHDHE RN 29 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AR =& 9,980 5,460 4,520
201 er23 | 3,380 4,260 A880
01 At2teltl 3,380 4,260 A880
oMNRES 7Y 5,0002x105+63] 300
o4& 2= M 5,000& *100H 500
SAMMESIAS BAag
70,0008 7 H 23] 980
oSS R=E S
8,000 x2& »100! 1,600
202 04t 600 1,200 2600
01 =LHOHI 600 1,200 2600
o HINE SR ST
20,0003 x1&»30! 600
301 EtE NS 5,000 5,000
4 JIEt2 8= 5,000 5,000
o HEd O0ICIN S28 Ald=s
3,000,000& 3,000
o HEd O0ILIN 243
10,0003 »200& 2,000
303 Z&=s 1,000 1,000
01 Za= 1,000 1,000
oY 2+ SR MEE
100,000 %10 1,000
gqe =4 96,800 120,376 N23,576
2 A5 X 96,800 120,376 N23,576
201 el 72,300 85,276 A12,976
01 At2t2ltl 71,500 84,276 N12,776
oASHIE A= 1,500,000 #32] 4,500
oadsdl HS AL de=
4,000,000& *10A 40,000
oBHSAI B 3,500,000 x4 14,000
oA, ASEER, 2N S
1,000,000 x5 5,000
cNIBYSA N2 =&
200, 0002 «3E =122 7,200
oYR & ASYEF FA SEH|
8,000 18 100! 800
2 S52g4l 800 1,000 A200
oAs SEHES 282 400,000 x224 800
202 04| 600 1,200 2600
01 =LHA LI 600 1,200 A600
o & ASES A
20,0002 x1& 30 600
303 Zal= 400 400
01 2= 400 400
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2A:

M AHNEES =X
ol HR gf = (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oAErdilt S Z& 100,000& x4H 400
305 =S 10,500 20,500 10,000
01 HHAI2S 0,500 20,500 A10,000
oA HDOI AH| WA
50,0002 10 500
ogtofl - 210 - £H 2 S Zolitie=s
5,000,000& 22 10,000
307 lztol & 13,000 13,000
02 2IZHB AR E & 13,000 13,000
o(AhZ2FHIGHA DA X HE X
10,000,000 10,000
oESHET DEAY X
3,000,000 3,000
SH ZA 92,454 90,642 1,812
= 17,036
Ea 75,418
SH2el 92,454 90,642 1,812
= 17,036
o 75,418
A HMZEAL =2 30,724 29,259 1,465
101 21AH| 9,289 9,163 126
04 JIZtN2 2N S 2+ 9,289 9,163 126
SANHHMZAL S22 A 12|
81,8402 x1&+28& *70% 1,605
S AP HMIZEAL ZARZEIXE Q124H|
81,8403 x2&H+28 x70% 3,209
SAMNHMZAL ZALKIE 22| AL @1 218]
78,880 x 1 %28 x70% 1,547
SAMNSHMZTA HRA 21|
78,8802 x2H x 182 *7(fh 1,988
S AT =AL EE = 940,000 940
201 Let=23 | 20,835 19,296 1,539
01 At22te|Hl 20,835 19,296 1,539
SMHMEAL ESTARE =&
78,8803 x11H 262 *7(f 15,792
SAEMEAL ESXZALE WS
6,000 x 11 +25& *70% 1,185
oS HEA F& 3,280
-E2= M 50,0003 %1104 550
-U2HEH(BH L) 40,0002 * 129K 2= 480
—ZEAE 1002 %10,0000H 1,000
-EANES 6,250 *105+20H 1,250
SSAH AL HAl & HAHUE SE|
8,000& 22 »38& 608
202 048l 600 800 A200
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SA: DR
M ZH A
&2l SH2L EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
01 =WO4bI 600 800 A200
o2E EHZA YPEX
20,0002 * 12«30 600
MNBIZAL F=E 51,730 50,997 733
T 17,036
= 34,6%4
101 2124l 29,102 28,369 733
T 14,552
= 14,550
M IIRINZ2EXsSEs 29,102 28,369 733
S AFSI ZAL EARZEIAF 4,059
- ARZ2IAF elAd]
82,000 x3H * 15 3,690
& 1,845
[ 1,845
A B2 369,000& 369
T 185
= 184
O ALZI A RAFR Q14|
79,000 *23H 12 21,804
& 10,902
= 10,902
S AR A LEAR A Q124H|
79,0003 x5 % 8 3,160
T 1,580
= 1,580
S AFSIZAL GIHI AR Q1241
79,0003 *1Hx1 79
& 40
= 39
201 B2 AY| 12,628 12,628 0
T 2,484
= 10,144
01 At 2elt] 12,628 12,628 0
CARESE F¥ 500,000& 500
oX&EAM L ZALE OIM
2,500& *1,0000H 2,500
OAIRI AN BN 2t 4,000,000& 4,000
S A2l AL S =584 55,0002 1294 2 660
S AISIZA 2 E 7
6,000 «8287t+* 4,968
= 2,484
= 2,484
207 AR HI 10,000 10,000
01 A2ZHY| 10,000 10,000
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24 OlEa
B S XA
el SH2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| ozA=4 g 24 10,000,002 10,000
Siele o 10,000 10,386 386
201 Yer2 e 10,000 10,386 386
01 At2teltl 10,000 10,000 0
oSHoE w2 50,00025200% 10,000
AP 2AZHI(D1&4) 87,213 90,272 A3,059
-] 59,915 58,914 1,001
elEl=2 | 59,915 58,914 1,001
101 2IAH| 59,915 58,914 1,001
01 24 54,19 53,291 905
SRS
11,3192 x 192 +21 A1 2+ 123 54,196
02 JIEHE 4 5,719 5,623 %
SN2 TR4E (N 62ME)
12,5313 <18 =21A12H* 123 3,18
SN2 224 (N BIAE)
10, 1623 x 1 *21 Al 2H= 123 2,561
Jl=3H| 27,298 31,358 24,000
Jl=23H] 27,298 31,358 24,000
201 Yer2 e 23,008 27,158 74,060
01 At2teltl 23,098 27,158 24,060
o=ADl £3 &L 330,000 22} 1204 7,920
oHXElHEH 250,000 *5H 1,250
o ZAEX 25,0002 102 A 123 3,000
oZADI42) 500, 0002420 1,000
oZRIE 42 300, 0004 <5 1,500
oIl Sxz 43,4003 <201+ 122 1,042
o3J|EEI| gxtg 35,0003+ 122 420
SRS 50002155 128 300
og2 BRHH 21 75008152128 450
SJIEH ARBE 17,0008+ 10%+ 128 2,040
oa BEYUR FW |
8,000 » 188 »20! 4,176
203 HR=&H] 4,200 4,200
ENEIEESSY 4,200 4,200
=25¢1 0lat 360,000&* 12 4,200
(Glla1ha] 7,729,192 5,020,000 2,709,192
Gl 7,729,192 5,020,000 2,709,192
oligisl 7,729,192 5,020,000 2,709,192
801 OfiBlHl 7,729,192 5,020,000 2,709,192
01 BHoliHIH] 3,534,192 3,500,000 34,192
ot oldIHl 3,534,192,000& 3,534,192
02 TH3H - S H o8] 4,195,000 1,420,000 2,775,000
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SA: DB
PSEL S0 ]s ]l
ol il (e A
_ - E
A BB S9(3H) - HIRAY - B2 Ofl AroH ﬁﬁﬁ HDE2
o JHaH - HH=SE0HIH]
4,195,000,000& 4,195,000
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